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physics - Bridge

1

A ball of mass m is attached to a
(massless) string of length L and is
undergoing circular motion in the
horizontal plane clockwise.
In the figure below draw and label
the following vectors on point p
1. Velocity.

2. Centripetal acceleration.
3. Centripetal Force.
4. Tangential acceleration.
5. Radial acceleration
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physics - Bridge

estion 2

2

Assume that the Jupiter is a solid
sphere of constant density, with mass
1.898 x10% kg and radius 69,911 km.
What is the moment of inertia of
Jupiter with respect to rotation about
its axis, and what is the kinetic energy
of this rotation? (One Jupiter day= 10
earth hour)
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_ 3 - . 3 it 3
A 150-g ball at the end of a ;t_ri'n_g s | Eiv‘lﬂ_&!'-"' 150-g ‘s L :_,S'l Sty
revolving uniformly in a horizontal Laylad ol A.001 830 2 0.60 m)
circle of radius 0.60 m, The ball makes A § 85 2.0 5,500 pilaly (0.

2.0 revolutions in a second. Calculate

Ay alt B Al Lt
the centripetal force.
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Ximum speed of 14 m/s. {(14m/s)
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| A potter is :ﬁ!nmn‘ & bowl! on a potter’'s L Li:.rﬂ 490 SEAN IS P

wheel rotating ay Constant angular o l.-r" &l - (LSVRV/S) ol
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between her hands and the clayis 1.7 N ol sleglly JUsM G, :
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‘A bicycle slows down uniformly from | o g Sk antys UslD
w = 8.40 M/s to rest, oyer 115m. Each o g Lolad ABgzib vip = 8.40 m/s
wheel has a radius of 0.34m. caicu[.m b s S5 .(115m) Ables plads
the following: . (0.34m) e} S
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(a) The angular velocity for one of he initial instant.
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b) The number of revolutions each wheel in the last 115 m before it stops.
- (115 m)cadgall Blus NS U] S5 laygds S sl das (b)
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